
C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

S
u
m

m
a

ry
 I
n
fo

rm
a

ti
o
n

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

Drawing No. Drawings Title Rev Issue Date

CNG-000 Drawing Summary Page 06 19/5/2017

CNG-001 Overall Dimensions 1.2 19/5/2017

CNG-002 Enclosure Manufacturing 1.7 04/08/2017

CNG-003 Adaptor Plate Manufacturing 1.3 04/08/2017

CNG-004 Steel Face Plate Manufacturing 1.1 5/5/2015

CNG-005 Acrylic Face Plate Manufacturing 1.5 19/03/2018

CNG-006 Assembly Drawing 1.4 2/6/2015

Drawing Summary:

Concierge Displays Pty Ltd

Concierge 10 Inch Flush Mount Wall Bracket

ACMGFM10

CNG-000

Issue Number 12 – 19/03/2018

03 13/05/2015

04 21/05/2015

05 02/06/2015

06 19/05/2017

07 28/07/2017

08 01/08/2017

09 04/08/2017

10 26/10/2017

11 23/11/2017

12 19/03/2018



C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

O
v
e
ra

ll 
D

im
e

n
s
io

n
s

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

2
2

0
.0

0
2
2

0
.0

0

316.00316.00

292.40292.40

1
9

6
.4

0
1
9

6
.4

0

63.2063.206.506.50

1.0 21/9/2013

CNG-001

1.1 2/6/2015

1.2 19/5/2017



C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

E
n
c
lo

s
u
re

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

306.00306.00

290.00290.00

75.0075.00

7
5
.0

0
7
5
.0

0

1
9
4
.0

0
1
9
4
.0

0

2
1
0
.0

0
2
1
0
.0

0

3
4
.0

0

3
7
.5

0

6
1
.2

0
6
1
.2

0

130.00130.00

Weld edges in 

each corner.

8.008.00

Material will be 1.2mm Mild Steel with Textured 

Black Powdercoat finish.

290.00290.00

Inside

Inside

4 x M3 Self Clinching 

Stud (CHM3-12)

20.0020.00

1
5
.0

0
1
5
.0

0

2
5
.0

0
2
5
.0

0

3
0
.0

0
3
0
.0

0

3
5
.0

0
3
5
.0

0

4
5
.0

0
4
5
.0

0

150.00150.00

170.00170.00

190.00190.00

9.409.40

25.0025.00

35.0035.00

45.0045.00

5
4
.0

0

7
4
.0

0

8 x Ø5.00 each side

1.0 19/4/2013

1.1 21/9/2013

2mm radius on each 

corner.

3
0
.0

0

50.4050.40

R 2.00

R 2.00

Fold material in along 

dotted line after cutting.
10.00

3
1
.8

0

5
.0

0

4
1
.0

0

6.50

Ø5.50

Ø5.50

5.5mm hole

5.5mm hole

Detail A – Tab Mounting Cut-outs.

22.00

Mounting Tab (4 per unit)

30.00

8
.0

0

R 4.00

M5.0 Thread Insert.

4.00
M5.0 Thread Insert.

3
.0

0

Material will be 3.0mm Mild Steel with 

Textured Black Powdercoat finish.

CNG-002

1.2 5/5/2015

Fold material in along 

dotted line after cutting.

4 x M3 x 12 Studs

1.3 13/5/2015

Refer to Detail A below

11.00
Typ.

1.4 21/5/2015

210.00210.00

1.5 2/6/2015

6 x M4 Self Clinching 

Nut (CM4-1) 10 x M4 Self Clinching Nut 

(CM4-1)

4 x M3 Self Clinching 

Stud (CHM3-12)

1
4
4
.0

0
1
4
4
.0

0

22mm dia hole in corner with 

half on bottom and half on side.

22mm dia hole in corner with 

half on bottom and half on side.

22mm dia hole in corner with 

half on bottom and half on side.

1.6 28/7/2017

178.00178.00

Refer to Detail B below

Detail B – Arrow Cut-out.

5
7
.0

0
5
7
.0

0

12.00

8
.0

0

3
0
.0

0

4.00

1.7 04/08/2017

Revision History

1.6 – 28/7/2017

- Added Mouse Holes

- Removed 2 x M4 Self Clinching Nut for depth stop screws.

- Added 4 x M4 Self Clinching Nut for depth stop screws. 

1.7 – 4/8/2017

- Added 2 x M4 Self Clinching Nut for scissor stop screws.

- Moved Adaptor Bracket Self Clinching Nuts to 75 x 75.

- Added Install Direction Arrow.



C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

A
d
a

p
to

r 
P

la
te

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

Adaptor Plate (2 per unit)
6
0
.0

0
6
0
.0

0

9
5
.0

0
9
5
.0

0

1
0
.0

0
1
0
.0

0

1
5
.0

0
1
5
.0

0

30.0030.00

75.0075.00

95.0095.00

7
5
.0

0
7
5
.0

0

15.0015.00

12 x Ø4.50

2 x Ø5.50

Material will be 1.2mm Mild Steel with 

Textured Black Powdercoat finish. 1.0 19/4/2013

1.1 21/9/2013

2mm radius on each corner.

2mm radius on each 

corner.

CNG-003

30.0030.00

1.2 28/7/2017

Revision History

1.2 – 28/7/2017

- Removed 50 x 50 holes from Panel Adaptor.

- Removed 100 x 100 holes from Panel Adaptor.

- Made Panel Adaptor smaller. 

1.3 – 4/8/2017

- Deleted Enclosure Adaptor.

- Changed Panel Adaptor to “Adaptor Plate”. Require 2 of.

1.3 04/08/2017



C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

S
te

e
l 
F

a
c
e

 P
la

te

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

A-A

B-B

Section B-BSection A-A

C-C

Section C-C

316.00

1
5
0
.0

0

246.00

2
2
0
.0

0

2
6
.0

0
4
6
.0

0

12.00 x 12.00 x 

1.6mm Angle.

287.00

Fold edge over @20 deg 

by 1.6mm.

Material will be 1.2mm Mild Steel with Gloss 

Black or White Powdercoat finish as directed.

1.0 19/4/2013

CNG-004

1.1 5/5/2015



C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

A
c
ry

lic
 F

a
c
e

 P
la

te

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

CNG-005

316.00

261.00

22
0.

00

16
6.

00

R 2.00

R 13.00

3.00

4.00

White Or Black Acrylic Layer

Clear Acrylic Layer
18

0.
00

298.00

Magnet Installed on 

Clear Acrylic side.

Magnet Installed on 

Clear Acrylic side.

7mm diameter x 3mm 

Magnet (x4) Installed 

on Clear Acrylic side.

1.1 28/7/2017

1.0 19/5/2017

Section 

B-B

Section 

A-A

Section 

A-A

Section 

B-B

1.2 01/08/2017

Note:

Bowing of >0.2mm across the entire plate 

in either direction will not be accepted.

Polish all exposed 

edges to mirror finish.

1.3 26/10/2017

Note:

The outer layer colour will be provided 

with the purchase order. Standard colours 

will be black or white.

1.4 23/11/2017

V1.5 (19/03/2018)

– Changed and moved magnet.

V1.5 (19/03/2018)

– Changed and moved magnet.

1.5 19/03/2018

Note:

Rare Earth Magnet is available from:

WRS Orora

Part No. 9RE7X3



C
o
n

c
ie

rg
e

 D
is

p
la

y
s
 P

ty
 L

td

6
/1

3
1

 H
y
d

e
 S

tr
e

e
t

F
o

o
ts

c
ra

y
, 

V
ic

to
ri

a
, 

3
0

1
1

P
h

) 
+

6
1
 3

 9
0

1
2

 6
1

2
6

w
w

w
.c

o
n

c
ie

rg
e

d
is

p
la

y
s
.c

o
m

.a
u

P
ro

je
c

t:

C
o

n
c
ie

rg
e
 D

is
p
la

y
s
 P

ty
 L

td

1
0

" 
F

lu
s
h

 M
o

u
n
t 

W
a

ll 
B

ra
c
k
e

t

A
C

M
G

F
M

1
0

A
s
s
e
m

b
ly

REVISIONS

No. Date

Project Code

Drawn By

Scott Summers

T
it

le
:

First Drawn

March 20, 2018

Drawing Number

Concierge ACMGFM10 flush mount.vsd

189.70189.70

3
0
.1

1
3
0
.1

1
1
9
9
.6

0
1
9
9
.6

0

5
9
.2

0
5
9
.2

0

Folding Mechanism

Assembly

2
5
.0

0
2
5
.0

0
1
0
.0

0
1
0
.0

0

100.00100.00

90.0090.00

Ø7.00

Material will be 10mm x 25mm 

ACNGinium with Satin Black 

Powdercoat finish.

M5 x 9mm Nylon shoulder washer.

1.0 15/03/2013

M5 x 70mm 

Socket Head.

M5 x Lock Nut.

Face Plate

Enclosure

10" Panel Folding Mechanism

M5 x 50mm Allen 

Bolt. (All Thread)

1.1 12/04/2013

Magnet

1.2 21/9/2013

Mounting Tab

Magnet Assembly

M5 x Lock Nut

Mounting Tab

Panel Adaptor

Enclosure Adaptor

M5 x 70 Allen Bolt and Lock Nut.

Parts List

M5 x 50 Allen Bolt (all threaded) and Lock Nut.

CNG-006

1.3 5/5/2015

M4 x 40 Allen Bolt and Nut.

Panel Adaptor

Enclosure Adaptor
M4 x Nut

M4 x 40 Allen Bolt

1.4 2/6/2015


	Concierge ACMGFM10 flush mount.vsd
	Summary Information
	Overall Dimensions
	Enclosure
	Adaptor Plate
	Steel Face Plate
	Acrylic Face Plate
	Assembly


